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3A22H(A)~278(%x)-4A38 (%) :16:00-22:00

3A298 (A)~4A2H (%) : 13:00-22:00

RENME

3A228(A)~3A278 (L)
3A29R (H)~4A3H (L)
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3A21H(x)-3A22A(A)-3A28H(RA)-4A48(A)-4A58(AH)
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5 = 38228 (H)-298 (A) 16:00 ~ 17:50
= 38238 () -308 (K) 16:00 ~ 17:50
6 = 38228 (A)-298(A) 16:00 ~ 17:50
= 38238 (:X)-308 (k) 16:00 ~ 17:50
thZ2 &R
= 38258 (K)-4R18(K) 19:00 ~ 22:00
i1 5 3A278(£)-4A3B (L) 19:00 ~ 22:00
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#® 38238 () -308 (K) 19:00 ~ 22:00
th2 5 38268 (£)-4828 (£) 19:00 ~ 22:00
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o 38238 (k) -308 (K) 19:00 ~ 22:00
i3 4 38250 (K)-4R18 (K) 19:00 ~ 22:00
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iZ 3A228(A)-248(K)+298 (A)=31H ()K) 18:00 -~ 22:00




